
120

Ta
sa

rı
 E

ği
ti

m
 Y

ay
ın

la
rı

ÜSLÜ SAYILARSAYISAL ÇÖZÜM

2

1.	
, .

, . , .
0 5 10

1 2 10 0 18 10
29

28 27+
-

- -

.
. .

5 10
12 10 18 10

30
29 29+

-

- -
 = 

.5 10
10 12 18

30

29 +
-

- ^ h

	 = 
.
.

5 10
30 10

30
29

-

-

	 = 6.101

	 = 60
Cevap: E

2.	 	2x+1 + 6.2x + 4.2x–1	 = 160

	 2x .2 6 4 2
1

+ +` j	 = 160

	 2x.10	 = 160
	 2x	 = 16 = 24

	 x	 = 4  olur.
Cevap: C

3.	 	 ,
,
0 005
0 015 m 4-
c m 	 = (27)2–m

	 3m–4	 = (33)2–m

	 3m–4	 = 36–3m

	 m – 4	 = 6 – 3m
	 4m	 = 10

	 m	 = 2
5    olur.

Cevap: D

4.	
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x
2
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1
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5
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5 x x
1 4
-  = 5–2

5 x
3-

 = 5–2	 ⇒	 x
3- 	= –2

		  –2x	= –3

		  x	= 2
3

Cevap: E

5.	 	5.43–a + 
4
2
a 3– 	= 112

	5.43–a + 2.43–a	= 112
	 43–a.(5 + 2)	= 112
	 43–a.7	= 112
	 43–a	=16
	 43–a	= 42

	 3 – a	= 2     ⇒     a = 1   olur.
Cevap: A

6.	
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Cevap: E
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7.	 •	 	 3x  – 5y 	= 75
		  5y  + 7z	= 349
   +		 7z – 3x 	= 262
		  2.7z	= 686
		  7z	= 343
		  z	= 3
•	 	 7z – 3x	= 262
		 343 – 3x	= 262
		  81	= 3x

		  ⇒   x	= 4
O halde x.z = 4.3 = 12  olur.

Cevap: B

8.	 92 + 122 + 152

= 32(32 + 42 + 52)
= 32.x
= 9x

Cevap: D

9.	 	 64
4 4 4 4

x
3 3 3 3+ + + 	 = 2

	 .
4
4 4

x3
3

	 = 2

	 44–3x	 = 2
	 28–6x	 = 21

	 8 – 6x	 = 1
	 6x	 = 7

	 x	 = 6
7

Cevap: E

10.	 	 2x.3y	 = 4
x	 2y.3x	 = 9

	 2x+y.3x+y	 = 36
	 6x+y	 = 62	 ⇒	 x + y = 2  olur.

Cevap: C

11.	 	 3 3
3 3
x y x y
y y
+
+

+ -

- 	= 127

	
3 3

3 3 3
y y

x y y

+

+
-

-^ h
	= 

3
1
3

	 3x	= 3–3

	 x	= –3
Cevap: C

12.	 	 9x + 9y	= 41	 →	 25 + 9y	= 41
+	 9x – 9y	= 9    		  9y	= 16    ve    3y = 4
	
	 2.9x	= 50
	 9x	= 25    ve    3x = 5

O halde   3x+y = 3x.3y = 5.4 = 20  olur.
Cevap: D

13.	 •	 2x–2 = 3     ⇒     2x. 4
1  = 3     ⇒     2x = 12

•	 21–x = 21. 2
1

12
2

6
1

x = =   olur.

Cevap: D

14.	 	 6x–1	 = 3x+1

	 6x. 6
1 	 = 3x.3

	 3x .2x. 6
1 	 = 3x .3

	 2x	 = 18
⇒	 2.2x	 = 2.18
	 2x+1	= 36   olur.

Cevap: E

15.	 	 3a–4.10a+b	 = 30a+b

	3a–4. 10a b+ 	 = 3a+b. 10a b+

	 3a–4	 = 3a+b

⇒	 a – 4	 = a + b
	 b	 = –4

Cevap: A


